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The following table shows the details about money invested (principal) in a bank at a certain rate of interest for a given
period of time by six different male persons A-F, alongwith with the amount received (in ). Some values are missing in
the table (indicated as'_') that you are expected to calculate if required. Based on the data in the table, answer the

questions that follow.

Person-wise Details of Money Invested

Person

Rate of Interest

(%)

Time

(In years)

Principal

n3)

Amount Received

%)

6%

18000

6%

30000

29000

43000

m| o | m| =

8%

20000

F

60000

Note: Calculate simple Interest unless spacified.

Sub questions

Question Number : 1 Question Id : 22742716403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the rate of interest received by Aand C is in the ratio of 2:3, then the money invested by C will get doubled in

years.
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Options:

22742763901. 1

22742763902. 2

22742763903. 3

22742763904. 4



Question Number : 2 Question Id : 22742716404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the difference between the interest received by E and B is < 4200 and E invested his money for double the time period for
which B invested his money, then the amount received by E is

1.330,000

2,326,600

3.329600

4.335400
Options:
22742763905. 1
22742763906. 2
22742763907. 3

22742763908. 4

Question Number : 3 Question Id : 22742716405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the amount received by C is twice the money invested by him, then the amount he will receive after 2 years if he invests the
same sum of money in compound interest for 2 years compounded half yearly, is

Options:

227427639009. 1
22742763910. 2
22742763911. 3
22742763912. 4



Question Number : 4 Question Id : 22742716406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is 20% of the sum invested by him then how much more money as interest he would have eamed if
he had invested the money in compound interest?

1.3700

2.3600

3.3300

4.3400

Options :
22742763913. 1
22742763914. 2
22742763915.3

22742763916. 4

Question Number : 5 Question Id : 22742716407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If the interest recaived by F is < 7,575 mare than the interest received by D and the rate of interest received by F is 2% more
than the rate of interest recieved by A, then the interest rate received by D is

Options :

22742763917. 1
22742763918. 2
22742763919. 3

22742763920. 4



Question Id : 22742716402 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742716403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763901. 1
22742763902. 2
22742763903. 3
22742763904. 4

Question Number : 2 Question Id : 22742716404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.330.000

2.328600

3.329.600

4 335400
Options :
22742763905. 1
22742763906. 2
22742763907. 3

22742763908. 4

Question Number : 3 Question Id : 22742716405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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432199245
Options :
227427639009. 1
22742763910. 2
22742763911.3

22742763912. 4

Question Number : 4 Question Id : 22742716406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.3700

2 3600

3.3300

4 3400

Options :
22742763913. 1
22742763914, 2
22742763915. 3

22742763916. 4

Question Number : 5 Question Id : 22742716407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763917. 1
22742763918. 2
22742763919. 3

22742763920. 4

Sub-Section Number : 2
Sub-Section Id : 227427644
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742716408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which element of cooperative learning talks about 'sink and swim' together?

1. Individual accountability
2. Promotive Interaction

3. Positive interdependence
4 Group processing

Options :

22742763921. 1
22742763922, 2
22742763923. 3

22742763924. 4

Question Number : 6 Question Id : 22742716408 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763921.1
22742763922. 2
22742763923. 3

22742763924. 4

Question Number : 7 Question Id : 22742716409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Canva is an online tool used to prepare creative content in the form of poster, infographics, presentations etc
Statement (II): Edpuzzle is an online tool used for creating interactive videos.

Inlight of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are correct.

2 Both Statement (1) and Statement (II) are incorrect
3. Statement (1) is correct but Statement (II) is incorrect
4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742763925. 1
22742763926. 2
22742763927.3

22742763928. 4



Question Number : 7 Question Id : 22742716409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742763925. 1

22742763926, 2

22742763927. 3

22742763928. 4

Question Number : 8 Question Id : 22742716410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the charactertistics of mental development of Adolescents?
(A). Increased ability to generalise the facts

(B). Development of memory and imagination

(C). Decreased ability to deal with abstraction

(D). Decreased ability to understand

(E). Increased ability to solve problems

Choose the correct answer from the options given below:

1.(C), (D) and (E) only
2. (A), (B) and (E) only.
3. (A), (C)and (D).

4 (C)and (D) only.
Options :
22742763929. 1
22742763930. 2
22742763931. 3

22742763932. 4

Question Number : 8 Question Id : 22742716410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763929. 1
22742763930. 2
22742763931. 3

22742763932. 4

Question Number : 9 Question Id : 22742716411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which approach the teacher presents a puzzling situation and students solve the problem by gathering data and testing their
conclusions?

1. Discovery leaming
2. Latent leaming

3. Situated leamning
4. Inquiry learning

Options:
22742763933. 1
22742763934, 2

22742763935. 3



22742763936. 4

Question Number : 9 Question Id : 22742716411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742763933 1
22742763934 2
22742763935, 3

22742763936. 4

Question Number : 10 Question Id : 22742716412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(iven below are two statements:

Statement (1): The long-term memory for information tied to & particular time and place, especially memory of the events in a
person's life Is called as Implicit Memory

Statement (1): The knowledge that we are not concious of recalling but that influences our behaviour or thought without our
awareness is called as Episodic Memory.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) s true but Statement (11) is false.
4. Statement () s false but Statement (If) Is true.



Options :

22742763937. 1
22742763938. 2
22742763939. 3
22742763940. 4

Question Number : 10 Question Id : 22742716412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763937. 1

22742763938. 2

22742763939. 3

22742763940. 4

Question Number : 11 Question Id : 22742716413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): In Cross- Sectional research, a researcher studies the same population over time.

Statement (I1): In retrospective study, a researcher relies on people's memories and recollections of the past.
In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement () and Statement (1) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (I1) is true.

Options :

22742763941. 1
22742763942. 2
22742763943. 3
22742763944. 4

Question Number : 11 Question Id : 22742716413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742763941. 1
22742763942, 2
22742763943.3

22742763944. 4



Question Number : 12 Question Id : 22742716414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In naturalistic observation, the practice of dichotomous recording whether a behaviour occurs or not, constitutes

1. Cluster sampling

2. Time-interval sampling

3. Onelzero sampling

4. Continuous real-time sampling
Options :
22742763945. 1
22742763946. 2
22742763947. 3

22742763948. 4

Question Number : 12 Question Id : 22742716414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763945. 1
22742763946. 2
22742763947. 3

22742763948. 4

Question Number : 13 Question Id : 22742716415 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1) According to UGC Regulations 2018 on plagiarism, the authorities of a higher education institute cannot take suo
moto notice of an act of plagiarism.

Statement (II): Plagiarism means the practice of taking someone else’s work or idea and passing them as one's own.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are comect.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (Il) is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options:

22742763949. 1
22742763950. 2
22742763951. 3

22742763952. 4

Question Number : 13 Question Id : 22742716415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742763949. 1
22742763950. 2
22742763951. 3

22742763952. 4

Question Number : 14 Question Id : 22742716416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For a perfect normal distribution, the median would be equal to which of the following measures?
(A). Second quartile

(B). Mean

(C). 50! percentile

(D). Mode

(E). 5™ decile

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B)and (D) only.
A), (B), (C) and (D).

4 {AL (B), (C) (D) and (E).

Options :

22742763953. 1
22742763954. 2
22742763955. 3

22742763956. 4

Question Number : 14 Question Id : 22742716416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742763953, 1
22742763954, 2
22742763955, 3

22742763956. 4

Question Number : 15 Question Id : 22742716417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



For which of the following p-value of a test statistic, a null hypothesis is likely to be rejected?
(A). 0.38 of 2%

(B). 38%

(C). 2%

(D). 0.46

Choose the correct answer from the options given below

1. (A) and (B) only
2. (A)and (C) only
3. (B) and (C) only
4. (B) and (D) only
Options :

22742763957. 1
22742763958. 2
22742763959. 3

22742763960. 4

Question Number : 15 Question Id : 22742716417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742763957. 1
22742763958, 2
227427639509. 3

22742763960. 4

Question Number : 16 Question Id : 22742716418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, the Indian rhetoric, in its Hindu and Buddhist forms, has a/an

1. Materialist basis

2. Ethical basis

3. Euro-centric basis
4 Non-religious basis

Options:

22742763961. 1
22742763962. 2
22742763963. 3

22742763964. 4



Question Number : 16 Question Id : 22742716418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742763961. 1
22742763962. 2
22742763963. 3

22742763964. 4

Question Number : 17 Question Id : 22742716419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The paradoxical relationship between body and mind in a communication environment results in

1. Mindfulness

2 Self-importance
3 Obedience

4 Humour

Options :

22742763965. 1
22742763966. 2
22742763967. 3

22742763968. 4

Question Number : 17 Question Id : 22742716419 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742763965. 1
22742763966. 2
22742763967. 3
22742763968. 4

Question Number : 18 Question Id : 22742716420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are essential components of dialogic communication, according to Richard Johannesen?
(A). Afacade of pleasant greefing

(B). possessive warmth for others

(C). Empathic understading

(D). Spirit of mutual equality

(E). Positive regard for others

Choose the correct answer from the options given below:

A), (B) and (C) only.
B) (C) and (D) only.
C) (D) and (E)

A), (D) and (E) only.

1.
2
%

— — —

4

o,

Options :
22742763969. 1

22742763970. 2



22742763971. 3

22742763972. 4

Question Number : 18 Question Id : 22742716420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742763969. 1
22742763970. 2
22742763971. 3

22742763972. 4

Question Number : 19 Question Id : 22742716421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The non-verbal communication is studied across which of the follwing disciplines?
{A). Physics

(B). Chemistry

(C). Linguistics

(D). Social psychology

(E). Anthropology

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B) (C)and (D) only.
3. (C), (D), and (E).

4 (A), (B) and (E) only.
Options :
22742763973. 1
22742763974. 2
22742763975. 3

22742763976. 4

Question Number : 19 Question Id : 22742716421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fafeiad faugl 5 ¥ fo-16- 8§ TR-2isad YaR &I 8- [l |ar g2
A. HildH IR

B. TUTHARIRA

C. HIuTERHE

D. GHEIS® HIfaTH

E. AH4RIE
-d feu U famedl § § 999 IUgdd Itk &1 94 BIeld:

1. BadA B3R C
2 ®dd B, C AR D
3. ®add C, D3RE
4 HAAA B3ARE

Options :

22742763973. 1
22742763974. 2
22742763975. 3
22742763976. 4

Question Number : 20 Question Id : 22742716422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Every communication contains elements of both content and relationships.
Statement (I): Eye behaviour provides metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) i1s true but Statement (1) 15 false.
4 Statement (1) is false but Statement (I1) is true.

Options:



22742763977.1
22742763978. 2
22742763979. 3

22742763980. 4

Question Number : 20 Question Id : 22742716422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- Ude YaR H fqugasq 3R &t gHl & dd [dgH9H 8d |

Y |- HEf & TdeR 4 WHIR! Yad Had £

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742763977. 1

22742763978. 2

22742763979. 3

22742763980. 4

Question Number : 21 Question Id : 22742716423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the correct sequence of five (5) missing letters which will complete the following letter series
daa bc cda a c c

1.a. bacb

2 a,.eb.a¢

3 #6.8.b¢

4 3,¢a,cb

Options:

22742763981. 1
22742763982. 2
22742763983.3

22742763984. 4

Question Number : 21 Question Id : 22742716423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui (5) T H&R[ @1 Ug) 5 T & o FHafeifed aul-saet ot 81 <l daa_bc_cda_a ¢ c
1a,b,acb

2 aebac

3 @, 6.8, b,

1 A cach

Options :

22742763981. 1

22742763982. 2

22742763983. 3
22742763984. 4



Question Number : 22 Question Id : 22742716424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If in a scheme. the word 'FATHER' is coded as 104", how the word 'MOTHER' will be coded in the same scheme?

1.104

Options :

22742763985. 1
22742763986. 2
22742763987.3

22742763988. 4

Question Number : 22 Question Id : 22742716424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

ft foel T & FATHER' 1104 o &0 H oot oo 71 3, ol 3t 2151 § MOTHER' Tec, 1 8 doefad fodl aIeAT?

1.104

2.83

3.87

4.102

Options :
22742763985. 1
22742763986. 2
22742763987. 3

22742763988. 4

Question Number : 23 Question Id : 22742716425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Acircle has the diameter same as the length of the side of an equilatral triangle. What is the ratio of their respective areas?

11:
2.92:
3 11;
4 11:

-
[ "l
-
i

= S

[

< i

P

Options :

22742763989. 1
22742763990. 2
22742763991. 3

22742763992. 4

Question Number : 23 Question Id : 22742716425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U6 30 &1 O AR U6 GHYS Bo o} U6 Yo 1 a%T 99H 8| 376 SAbal &1 Ui ol 8112

1.11:7/3
2.22:7/3
a1 et

Slsl

4 11:

Options :

22742763989. 1
22742763990. 2
22742763991. 3

22742763992. 4

Question Number : 24 Question Id : 22742716426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
An article is sold at a gain of 10%. Had it been sold for Rs. 26 more, the profit would have been 15%. The cost price of the
article is

1.Rs 480/-

2 Rs.500/-

3 Rs 510

4 Rs.520/-
Options :
22742763993. 1
22742763994, 2
22742763995. 3

22742763996. 4

Question Number : 24 Question Id : 22742716426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl e @110 %1 R o1 701 391G 38 39 oy 90§ <206 e R el 7 et 15 % M G2 il | %) @1 Pl 90

1.3480

2.3500

3.3510

4.3520

Options :
22742763993. 1
22742763994. 2
22742763995. 3

22742763996. 4

Question Number : 25 Question Id : 22742716427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The difference between the compound interest and simple interest on <10,000/- for 3 years at 10% per annum is

1.310

2.300

3.200

4.430

Options :
22742763997. 1
22742763998. 2
22742763999. 3

22742764000. 4

Question Number : 25 Question Id : 22742716427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10 % It BI G Y 10000 W 3 9Y] & Tshdfe STd AR YR &S b HH R a1 82

1.3310

2.3300

3.3200

4.3 430
Options :
22742763997. 1
22742763998. 2
22742763999. 3

22742764000. 4

Question Number : 26 Question Id : 22742716428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
{A). Mammal

(B). Wildcat

(C). Feline

(D). Animal

(E). Vertebrate

Choose the correct answer from the options given below:

1. (B), (C), (A), (E), (D).
2. (D), (E), (A), (C), (B).
3. (D), (A), (E), (B), (C).
4. (C), (B), (E), (A), (D).
Options :

22742764001. 1
22742764002. 2
22742764003. 3

22742764004. 4

Question Number : 26 Question Id : 22742716428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FEfeRad ee el &l 953y & ARG 71 H HaRyd SIfT :
A TTOEL

B. gfead

C. fasm

D. T

-id feu U foeedl & © 981 3R &1 99 DIt

1.B,C,AED
2D EACEB
3. DA E B, G
4 C,B,EAD

Options :

22742764001. 1
22742764002. 2
22742764003. 3
22742764004. 4

Question Number : 27 Question Id : 22742716429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"If you like ketchup and you also like icecream, then you would sure like ketchup icecream.” Which fallacy is committed in this
argument?

1. Ad Hominem

2. Hasty Generalisation

3. Slippery Slope

4 Fallacy of composition
Options:
22742764005. 1
22742764006. 2

22742764007. 3



22742764008. 4

Question Number : 27 Question Id : 22742716429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"G, 310 9 TG % 3 AR S0 SHZHHTH Ht GG e 2, o e 0 § i Mgt e il 9 G H o
T 37

1, o 9R19 5 e

2. HaNE FHRIEU
3. g B

4 Welaey
Options :
22742764005. 1
22742764006. 2
22742764007. 3

22742764008. 4

Question Number : 28 Question Id : 22742716430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which formal fallacy is committed in the following argument: "No politicians are idiots. Some voters are not idiots. Therefore,
some voters are not politicians."?

1. Exclusive Premises

2. Existential fallacy

3. Afirming the consequent
4. Denying the antecedent

Options :
227427640009. 1
22742764010. 2

22742764011. 3



22742764012. 4

Question Number : 28 Question Id : 22742716430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 4 B @ 91 SN G &l 2 oricn 98 ] ol 61 3 Farel 9 Te) o 51 39101, 39 Haal Toriioq

a8

1. TG LRI

) YWD Togy

3. B faYR-E

4. 3qdI Y QY
Options :
227427640009. 1
22742764010. 2
22742764011. 3

22742764012. 4

Question Number : 29 Question Id : 22742716431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Inductive arguments can only be stronger or weaker.

Statement (Il): Deductive arguments are either invalid or valid.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are correct.

2. Both Statement (1) and Statement (I1) are incorrect
3. Statement (1) is correct but Statement (I1) is incorrect
4 Statement (1) is incorrect but Statement (I1) is correct

Options :



22742764013. 1
22742764014. 2
22742764015. 3

22742764016. 4

Question Number : 29 Question Id : 22742716431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@Y |- AT gfGad! $ad €6 O HHIR &l 9ddl g

Y II: FRTHATES Tfeaal ar dl oy gidl & a1 3¢ gidl €|

SWRiad By & e H, 41 Gu U faded! § T el Sk &1 99 Diteid

1. PYFI AR NG gd g

2. YT | R || gHf SO &

3. ®YF | G &, Afted SYA 1| 3T ©
4 DY | AUT T, Afh-T HYT | G &
Options :

22742764013. 1

22742764014 2

22742764015, 3

22742764016. 4

Question Number : 30 Question Id : 22742716432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following arguments the reason is counterbalanced by another reason as per classical Indian school of logic
(Nyay)?

(A). All things are non-etemal, because they are knowable.
(B). Fire Is cold because it is a substance.

(C). Sound is eternal because it is produced.

(D). Sound is a quality, because it is visible.

Choose the correct answer from the options given below:

1.(B)and(C
2 (A)and (D)
3.(C)and (D]
4. (B)and (D) only.

only.
only.

)
D)
)
)
Options :

22742764017. 1
22742764018. 2

22742764019. 3

22742764020. 4

Question Number : 30 Question Id : 22742716432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & YR QR <G A & S8R 5 H 9 foo gt 7 89 il 3 5q 3 foigfer 1 o 82
A GHT TG0 IR-T14d € i d 7B

B. +if fiqa gl & T T8 Tard &

C. A A% 3 FMfe 78 Iaifed gt 3l

D. @ 701 8 Fifs a8 X4 3

HTd few e faded T a8 IUYH IR &1 98 DI

1 $3aB AR C
2 BATAIRD
3 %aa C AR D
4 $aaB ARD

Options :

22742764017. 1
22742764018. 2
22742764019. 3

22742764020. 4

Question Number : 31 Question Id : 22742716433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): MyGov. is a platform through which Government of India aims to encourage citizen participation towards good
govemance by seeking their ideas and suggestions.

Statement (1): MyGov platform is developed by three of the former Flipkart executives to provide a cashless and seamless
payment experience.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.

Options:



22742764021.1
22742764022. 2
22742764023. 3

22742764024. 4

Question Number : 31 Question Id : 22742716433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y |- TR (MyGov) T U1 Hd 2 fords W1eg ¥ 4R SR e ! & QI o el 347y iR iR i ot o 3
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Options :
22742764021. 1
22742764022. 2
22742764023. 3

22742764024. 4

Question Number : 32 Question Id : 22742716434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1): Dropbox is an example of e-mail service on the Internet.

Statement (I1): Google Docs is an online word processor.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742764025. 1
22742764026. 2
22742764027.3
22742764028. 4

Question Number : 32 Question Id : 22742716434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HY |; STUEIFT Se3-e U1 5-40 9a1 &1 Uh 3aeu gl

®U |I: I S T HHcE do UR B

SWRId Y & Hciid |, Hid 15T T fadedl & T Tel IR &1 994 Siteg

1 Y 3RIGHI 9d g

2 ®YF | AN I GHf AET B

3 YT | Td &, Al HYF 1| 39T §
4 Y| MO g, dibd Y 11 T 8

Options:

22742764025. 1
22742764026. 2
22742764027.3

22742764028. 4



Question Number : 33 Question Id : 22742716435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Dynamic RAM (DRAM) is the most common type of RAM used in computers, but where absolute speed is
essential, Static RAM (SRAM) is the preferred technology.

Statement (1): The Processor's Memory Cache is the high speed portion of the memary and SRAM s the effective technology
for the same.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4. Statement (1) is false but Statement (1) is true.

Options:

22742764029. 1
22742764030. 2
22742764031.3

22742764032. 4

Question Number : 33 Question Id : 22742716435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742764029. 1
22742764030. 2
22742764031. 3
22742764032. 4

Question Number : 34 Question Id : 22742716436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements A-D about Internet Cookies is/are true?
{A). They are form of spyware.

(B). They are used only in advertising

(C). They are used to track browser use.

(D). They act in the same way as a virus.

Choose the correct answer from the options given below

1. (A) only.

2. (A) and (B) only
3. (C) only

4 (C)and (D) only.
Options :
22742764033. 1
22742764034. 2
22742764035. 3

22742764036. 4

Question Number : 34 Question Id : 22742716436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742764033. 1
22742764034. 2
22742764035. 3
22742764036. 4

Question Number : 35 Question Id : 22742716437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct with reference to Organic Light-Emitting Diodes (OLEDs)?

(A). Because of plastic organic layers, OLEDs are much thicker and heavier than conventional LCD/LED formats.
(B). OLEDs give a brighter light than LEDs leading to more vivid colours.

(C). OLEDs produce a much larger field of view than LCD/LED formats.

(D). OLEDs require some form of back-lighting so that the screen can be lit up.

(E). OLEDs consume more power than LCD/LED formats and thus produce more heat.

Choose the correct answer from the options given below:

Options :

22742764037. 1
22742764038. 2
22742764039. 3
22742764040. 4

Question Number : 35 Question Id : 22742716437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742764037. 1
22742764038. 2
22742764039. 3
22742764040. 4

Question Number : 36 Question Id : 22742716438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Concept of salt gradient is utilized to store the heat energy in which of the following solar energy collecting systems?

1. Solar thermal collectors
2. Solar cells

3. Solar ponds

4 Solar kilns

Options:
22742764041. 1
22742764042. 2

22742764043. 3



22742764044. 4

Question Number : 36 Question Id : 22742716438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fet W) et TG0 Ol fo o] H 3 G5l b Y/ GRU b foTU <l ol 1 Wbt ol T ] i 62

1 9% a0 950
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Options :

22742764041. 1
22742764042, 2
22742764043. 3
22742764044. 4

Question Number : 37 Question Id : 22742716439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of PAN, a type of air pollutant, is

1. Polycyclic Aromatic Nitrate
2. Polycyclic Acetyl Nitrate

3. Peroxy Aromatic Nitrate

4 Peroxy Acetyl Nitrate

Options :

22742764045. 1
22742764046. 2
22742764047. 3
22742764048. 4



Question Number : 37 Question Id : 22742716439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
9 UgN®| & UP UBR , PAN BT U A1 FE H ¥ &F 91 8?2

1. Uil gsidas WHk® 5de
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Options :

22742764045. 1
22742764046. 2
22742764047.3

22742764048. 4

Question Number : 38 Question Id : 22742716440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I). Two categories of Ozone Depleting Substances (ODS) were class | and class |
Statement (I1): Production of class |l ODS ceased in 2000.

In light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement (1) and Statement (1I) are correct.

. Both Statement (I) and Statement (11) are incorrect

- Statement (1) is correct but Statement (11} is incorrect
- Statement (1) is incorrect but Statement (11) is correct
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Options :

22742764049. 1
22742764050. 2
22742764051. 3

22742764052. 4
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22742764050. 2

22742764051. 3
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Question Number : 39 Question Id : 22742716441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : Formaldehyde, widely used in plastics, wood products, insulating materials, glue and fabrics, is a serious
allergen.

Reason (R) : Allergens are substances that activate the immune system
In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.



Options :

22742764053, 1
22742764054, 2
22742764055, 3
22742764056. 4
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22742764053. 1
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22742764056. 4

Question Number : 40 Question Id : 22742716442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



During which one of the following the Convention on Biodiversity was opened for signature?

1. Rio Summit

2. Stockholm conference
3. Ramsar convention

4. Montreal Protocol

Options :

22742764057. 1
22742764058. 2
22742764059. 3

22742764060. 4
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22742764057. 1
22742764058. 2
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The Hindu college of Calcutta was later renamed as

_ Surendranath college

- Ram Mohan Roy college
University/College

. Presidency college
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22742764061. 1
22742764062. 2
22742764063. 3

22742764064. 4
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22742764061. 1
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Dr. B. R. Ambedkar was associated with

{A). Elphinstone college, Mumbai

(B). Khalsa college, Mumbai

(C). Milind college, Aurangabad

(D). Siddharth college, Mumbai

(E). Fergusson college, Pune

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4. (A), (D) and (E) only.
Options :
22742764065. 1
22742764066. 2
22742764067. 3

22742764068. 4
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22742764065. 1
22742764066. 2
22742764067. 3
22742764068. 4
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Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Policy on Education (1986) intended to encourage inter-disciplinary research in social science.
Statement (1) According to the National Policy on Education (1986) the idea of rural universities was untenable.

In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (11} Is false.
4 Statement (1) is false but Statement (II) is true.

Options:

No



227427640609. 1
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Which of the following fundamental principles of education are highlighted under New National Education Policy (2020)?
(A). Higher education as a fundamental right.

(B). Multi-disciplinarity and holistic education.

(C). Outstanding research as part of higher education.

(D). Promotion of multilingualism in teaching and learning.

(E). Setting up of another knowledge commission.

Choose the correct answer from the options given below:

(A), (B) and (C) only.
(B), (C) and (D) only
©) (

(D)and (

)
C), (D) and (E) only

),
),
),
(A), (D) and (E) only.

1
2
3
4
Options :

22742764073. 1
22742764074. 2
22742764075. 3

22742764076. 4
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Environmental education is needed for:

{A). Conservation of natual resources.

(B). Knowledge of causes of pollution.

(C). Knowledge of measures to prevent pollution.

(D). Extensive extraction of natural resources.

(E). Economising on scientific invention.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2. (B), (C) and (D) only
3. (C), (D) and (E).

4. (A), (D) and (E) only.
Options :
22742764077.1
22742764078. 2
22742764079. 3

22742764080. 4
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Read the following passage carefully and answer the questions given below:

Saving energy means saving money. Homeowners and renters know this basic fact, but they often don't know what kinds of
adjustments they can make in their homes and apartments that will result in savings.

For those willing to spend some time and money to reap long-term energy savings, an energy audit is the way to go. An energy
auditor will come into your home and assess its energy efficiency. The auditor will pinpoint areas of your home that use the most
energy and offer solutions to lower your energy use and costs. Trained energy auditors know what to look for and can locate &
variety of flaws that may be resulting in energy inefficiency, including inadequate insultion, construction flaws, and uneven heat
distribution.

There are quicker and less costly measures that can be taken as well. One way to save money is o replace incandescent lights
with fluorescents. This can result in a savings of more than 50% on your monthly lighting costs. When it's time to replace old
appliances, if's wise to spend & bit more for an energy-efiicient model, and be sure that you are taking advantage of energy-
saving settings already on your current refrigerator, dishwasher, washing machine, or dryer.

Windows provide another opportunity to cut your energy costs. Caulk old windows that might be leaky to prevent drafts, and
choose double-paned windows if you're building an addition or replacing old windows.

Most areas of your home or apartment offer opportunifies o save energy and money. The results are significant and are well
worth the effort.

Sub questions

Question Number : 46 Question Id : 22742716449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The passage indicates that old appliances

1. Consume more energy.
2. Consume less energy.
3. Work well.

4 Have long life.

Options :

22742764081. 1
22742764082. 2
22742764083. 3

22742764084. 4



Question Number : 47 Question Id : 22742716450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

With reference to the fourth paragraph of the passage, the meaning of the word 'Caulk’ is

_to shut

- to make more attractive

_to fill the holes

4 to find the cause of a problem

[ O

Options:

22742764085. 1
22742764086. 2
22742764087. 3
22742764088. 4

Question Number : 48 Question Id : 22742716451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, double-paned windows

1. should never be used as replacement windows or in new additions to homes
2. can't be repaired

3. will lower your heating costs by 50%

4 are energy efficient

Options:

22742764089. 1

22742764090. 2

22742764091. 3

22742764092. 4

Question Number : 49 Question Id : 22742716452 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the passage, which of the following would an energy auditor do?
(A). Locate a variety of flaws that may result in energy inefficiency and fix them.
(B). Check for construction flaws

(C). Look for problems with heat distribution

(D). Offer solutions to lower your energy costs

Choose the correct answer from the options given below:

1. Aonly.

2. B and C only.

3. C and D only.
4 B, CandD only

Options :

22742764093. 1
22742764094. 2
22742764095. 3

22742764096. 4

Question Number : 50 Question Id : 22742716453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ideas is not included in the passage?

1. You can reduce your monthly lighting costs by more than 50% by using fluorescent bulbs instead of incandescent.
2. Double-paned windows can cut energy costs.

3. Energy audit for every home and apartment should be mandatory in India.

4 Some appliances have energy-saving settings.

Options:

22742764097. 1

22742764098. 2
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